o
e e v . Name
/ Long Division
o 9

(without remainder) Score

DS:III:18

1 27,483,500 2) 7 V5,854,814
—_ Q —_
R = R =

3 5)1,079815 4 8)3,354,296
—_ Q —_
R = R =

°)  6) 4,492,074 6)  3)2,999,628
—_ Q —_—
R = R =

7} 95,305,158 8)  4)3574,460
—_ Q —_
R = R =
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e e v . Name
/ o Long Division
° (without remainder) Score
Answer key DS:II1:18
1 27,483,500 2) 7 V5,854,814
Q = 3,241,750 Q= 836,402
R= o0 R = 0
3 5)1,079815 4 8)3,354,296
Q = 215,963 Q= 419,287
R = 0 R = 0
°)  6) 4,492,074 6)  3)2,999,628
Q= 748,679 Q= 999,876
R= o0 R = 0
7} 95,305,158 8)  4)3574,460
Q= 589,462 Q= 893,615
R= 0 R = 0
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